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MASTER OF ARTS (ECONOMICS)
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O
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O 
MEC-005 : INDIAN ECONOMIC POLICY

Time : 3 hours	 Maximum Marks : 100

Note : Answer the questions as per instructions given for each

section.

SECTION - A

(Long Answer Questions)

Answer any two questions from this section : 	 2x20=40

What is an 'economic policy' ? What are its
different forms ? Why do we need state

intervention in the economic affairs of a country ?

"There has been no uniformity of views about the

necessity for Privatisation. Controversies abound
with regard to the mode of disinvestment.
Ultimately, the issues relating to disinvestment
turn around three questions - why, how and how
much". Explain this statement.
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Make a case for inviting foreign capital in India.
Critically evaluate the Government policy to
encourage inflow of foreign capital. Also indicate
the hurdles in the way of foreign investment.

Examine the role of Planning Commission in
reducing regional disparities in India. In this
context also examine the role of Finance
Commission.
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SECTION - B

(Medium Answer Questions)

Answer any five questions from this section :
	 5x12=60

"No economy is strong enough to stop the tide of
globalisation and neither is there a viable
alternative. As such, what Government must do
is to embrace globalisation, and strengthen
domestic institutions to cope with the strains it
places upon the society". Examine this statement.

Do you consider that the agricultural sector in
India still continues to be the back bone of the
Indian economy ? Also comment on the fact that
the declining share of agriculture in GDP has not
been accompanied by commensurate decline in
work force in agriculture.

What do you mean by infrastructure ? What are
its different forms ? Do you agree that inadequate
availability of infrastructure has adversely
affected the growth process in India ?

Unlike many other central banks, why is it

difficult for the RBI to adopt price stability as the
single objective of monetary policy ? Also examine
the mechanism of RBI intervention in the money
market.

MEC-005	 3
	 P.T.O.



Do you think that the collaboration between the
law violators and law - makers on one hand and
enforcers on the other has been strengthening the
black economy ? Give reasons in support of your
answer.

Point out the available delivery mechanism in

implementation of economic policies. How do
measures of good governance ensure
implementation of economic policy ?

Examine the important changes in the value
composition and direction of India's foreign trade
during the post-reforms period.

Explain any two of the following :

World Trade Organisation (WTO)

International Monetary Fund (IMF)

(c) Value Added Tax (VAT)

13.	 State, in brief, the principles of federal finance.

Why have the question of centre-states relations
become the focal point of discussion ?
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